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EJETS 16,890 38544 18,793 19,751
RAT 5% 1,240 2,960 1,452 1,508
AR 55 164 78 86
SH 509 1,075 533 542
RE 904 2,269 1,129 1,140
& ER 1,451 3,274 1,613 1,661
JtREFE1TH 311 624 248 376
JtREFE2TH 88 170 67 103
JEREFEITH 132 302 149 153
tREFEATH 213 403 159 244
B 744 1,499 623 876
=2 632 1,405 660 745
INF 435 919 472 447
INEE 482 1,238 619 619
SOEH/1TH 375 873 415 458
SOEHm™2TH 398 924 438 486
SOEHH/ITH 263 631 307 324
g 1,036 2,428 1,160 1,268
SOEHHE1TH 234 553 266 287
SOEHHE2TH 366 887 428 459
SOEHHEITH 469 1,116 534 582
g 1,069 2,556 1,228 1,328
B1E 625 1,365 677 688
=3 442 1,003 478 525
EFEA1TH 280 621 302 319
EFEE2TH 214 460 241 219
g 494 1,081 543 538
ANFH 737 1,728 847 881
KiE 313 769 385 384
2R 1,477 3,667 1,863 1,804
At 467 1,072 541 531
i 6 12 4 8
TE 1,446 3,053 1,463 1,590
=17 339 748 363 385
BERE 1,325 3,010 1,480 1,530
BREHFE1ITE 227 459 200 259
BREFE2THE 79 152 63 89
BAREFEITHE 229 450 190 260
g 535 1,061 453 608
A#&E1TH 85 142 88 54
A#i@E2TH 31 33 30 3
AR#iE4TH 11 13 11 2
B 127 188 129 59
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